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Answer the following question:

15

L

— A
a 25

e

W

The 70 mm screw of a 10 kN shop press, shown in Figure, has a square thread.
The operator's force may be taken 180 N for each hand but he is using only one
hand. The mean diameter of collar is 60 mm.

You may use this
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a) The length S assuming that the coefficient of friction is 0.12 in the threads
and neglected at the collar. The inner diameter is 58 mm.

e mi® o o et o
L_)E,'IE!TNHC'—‘
@ S =2 Moz O /t =0 i = SE mm
n :
Sl 4 = Ao;—d. _ 102158 = 4 -
B ol > =F 0~ 38 = |2 mm
e Temdmma L, A
it = W 2 |__ ’J’T/-Jm _ 1.(] Sel o j 2
_ 8, 6y [Txol2x6iel+12 7\ 4 - STNIHN. e
Z L Te6y_od2 %2 %l
= — | T e N 1 I
T — '_r-l L L—L . — fgo v S - S _ D&, T 1ArEen
handle nandle -

b) The efficiency of the press.
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c) Is the screw self-locking? Explain.
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d)AThe maximum normal and shear Stresses in the screw.
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e) The shear stress on the screw and nut threads.
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f) The bearing stress in the threads.
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